CERTIFIED WEDNESDAY/SATURDAY SCHOOL INSTRUCTORS 2022-2023 School Year

E	mployee Name				
Last Name	First Name	MI	Building	Position	Season
Bird	Cortney	R.	OBHS	Instructor	All Year
Borders	Bobbi	J.	OBHS	Instructor	All Year
Callaghan	Phillip	D.	OBHS	Instructor	All Year
Cornett	James	J.	OBHS	Instructor	All Year
Daugherty	Kristy	L.	OBHS	Instructor	All Year
Finley	Jill	М.	OBHS	Instructor	All Year
Fraley	Andrew	J.	OBHS	Instructor	All Year
LaFlamme	Michael	Α.	OBHS	Instructor	All Year
Lane	Lindsey	Ν.	OBHS	Instructor	All Year
Milesky	Alexis	М.	OBHS	Instructor	All Year
Nethero	Sarah	Α.	OBHS	Instructor	All Year
Nicolay	Alexandra	N.	OBHS	Instructor	All Year
Ubry	Catherine	E.	OBHS	Instructor	All Year
Castorena	Nathan	М.	OHS	Instructor	All Year
Cheyunski	Madison	S.	OHS	Instructor	All Year
Edwards	Rhainy	N.	OHS	Instructor	All Year
Gambill	Denise	Α.	OHS	Instructor	All Year
Gammill	Adam	W.	OHS	Instructor	All Year
Korinek	Morgan	Ρ.	OHS	Instructor	All Year
Myers	Michael	Η.	OHS	Instructor	All Year
Noday	Franchesca	L.	OHS	Instructor	All Year
Shape	Allison	E.	OHS	Instructor	All Year
Williams	Erin	О.	OHS	Instructor	All Year
Wolfe	Jordyn	М.	OHS	Instructor	All Year
Krupp	Jennifer	L.	OSMS	Instructor	All Year
Rinehart	Erin	Α.	OSMS	Instructor	All Year
Stoan	Krista	М.	OSMS	Instructor	All Year
Ward	Rebecca	Α.	OSMS	Instructor	All Year

EX. A.2 - September 8, 2022 1 of 1

CERTIFIED POSITION(S) PAID THROUGH MEMORANDUM BILLING 2022-2023 School Year

Emplo	oyee				Courses /			S	alary
Last Name	First Name	MI	Position	Building	Sessions	Days	Hours	Per Hour	Total
Home Instruction									
Duell	Kelly	L.	Instructor	ACES	0.00	0.00	50.00	\$ 25.00	\$ 1,250.00
Milligan	Heather		Instructor	OBMS	0.00	0.00	70.00	\$ 25.00	\$ 1,750.00
Parent Technology Night (August 23, 2022)									
Sandoval	Miriam	М.	Instructor	OCES	0.00	0.00	2.50	\$ 45.15	\$ 112.88

SUPPLEMENTAL CONTRACTS 2022-23 School Year Recommended for Board of Education Approval on September 8, 2022

	Coach / Advisor				Contract					
Supplemental Area	Location	Last Name	First Name	Middle	Group	Step	Amount	Season		
Advisors										
Art Club Advisor	OHS	Shawberry	Teresa	Α.	11	0	\$ 448.00	All Year		
MS Enrichment Advisor	OHMS	Hoelzer	Riley	C.	1/2 of 8	5	\$ 1,177.00	All Year		
MS Enrichment Advisor	OHMS	Neely	Joanne	М.	1/2 of 8	0	\$ 896.50	All Year		
ES Orchestra/Strings Advisor	WCES	Musgrave	Christiane	М.	5	10	\$ 5,380.00	All Year		
Safety Patrol Advisor	WCES	Saunders	Gerald	L.	9	16	\$ 2,466.00	All Year		
Department Chairs										
Mathamatics Department Chair	OHMS	Helline	Todd	J.	7	7	\$ 3,811.00	All Year		
District Department Chairs										
District Department Chair Gifted K-8	DIST	Gosdanian	Julie	М.	1/2 of 7	1	\$ 1,233.00	All Year		
Music										
ES Music Enrichment Advisor	LTES	Walls	Lori	М.	10	17	\$ 1,345.00	All Year		
ES Music Enrichment Advisor	LTES	Walls	Lori	М.	10	17	\$ 1,345.00	All Year		
ES Music Enrichment Advisor	LTES	Walls	Lori	М.	11	17	\$ 897.00	All Year		
ES Music Enrichment Advisor	LTES	Walls	Lori	М.	11	17	\$ 897.00	All Year		
ES Music Enrichment Advisor	LTES	Walls	Lori	М.	11	17	\$ 897.00	All Year		
Faculty Manager										
Faculty Manager	OBMS	Pauff	Franklin	Ρ.	6	10	\$ 4,932.00	Fall		
Faculty Manager	OHMS	Nicolosi	Richard	А.	1/2 of 6	15	\$ 2,466.00	Fall		
Sports Statistician										
Sports Statistician	OLHS	Hale	David	G.	11	9	\$ 852.00	Fall		

PUPIL ACTIVITY SUPERVISOR CONTRACTS 2022-23 School Year Recommended for Board of Education Approval on September 8, 2022

		Coach / Advisor			Contract				
Supplemental Area	Location	Last Name	First Name	Middle	Group	Step	Amount	Season	
Cheerleading									
Asst Cheerleader Coach	OHS	Burchfield	Abigail	Ι.	6	1	\$ 2,914.00	Fall	
Asst Cheerleader Volunteer Coach	OHS	Voss	Sahara	М.	N/A	N/A	\$-	Fall	
Faculty Manager									
Faculty Manager	OHMS	Burgan	Donna	Α.	1/2 of 5	10	\$ 2,690.00	Fall	
Faculty Manager	OHMS	Omorrow	Patrick	J.	N/A	N/A	\$-	Fall	
Football									
Asst Football Coach	OHS	Cheney	Clayton	Α.	3	2	\$ 4,932.00	Fall	
Asst Football Coach	OOHS	Fenton	Jack	G.	1/4 of 3	0	\$ 1,120.75	Fall	
Asst Football Coach	OOHS	Stevenson	Zachary	S.	1/4 of 3	0	\$ 1,120.75	Fall	
Asst Football Coach	OOHS	Talukder	Najib	М.	1/4 of 3	0	\$ 1,120.75	Fall	
8th Grade Asst Football Coach	OBMS	Jarrett	Jacob	Ρ.	6	0	\$ 2,690.00	Fall	
Soccer									
Boys Asst Soccer Coach	OHS	Davis	Brennon	J.	1/3 of 4	0	\$ 1,183.71	Fall	
Girls Asst Soccer Coach	OHS	Kaylor	Danielle	L.	4	4	\$ 4,483.00	Fall	

CLASSIFIED WEDNESDAY/SATURDAY SCHOOL INSTRUCTORS 2022-2023 School Year

E					
Last Name	First Name	MI	Building	Position	Season
Feasel	John	C.	OHS	Instructor	All Year

EX. A.6 - September 8, 2022 1 of 1

CLASSIFIED POSITION(S) PAID THROUGH MEMORANDUM BILLING 2022-2023 School Year

Empl	nployee				Courses /			S	alary
Last Name	First Name	МІ	Position	Building	Sessions	Days	Hours	Per Hour	Total
CPI Training									
Calvaro Squaiella	Andrea		Instructor	OLHS	0.00	0.00	2.50	\$ 20.95	\$52.38
Herrera	Beatriz		Instructor	OCES	0.00	0.00	2.50	\$ 19.60	\$49.00
Hill	Reiko		Instructor	OLMS	0.00	0.00	2.50	\$ 17.71	\$44.28
Stefens	Karina		Instructor	OHS	0.00	0.00	2.50	\$ 22.27	\$55.68

CLASSIFIED SUBSTITUTES 2022-2023 School Year

Diham Ahay Chabing	Regina Orellana
Riham Abou Chahine	Ruju Padia
Antonio Alonso	Suganya Devi Petchimuthu
Jennifer Bell	Lindsey Pisc
Rachael Borden	Wilnerys Ramos Sanjurjo
Kelly Bower	Julia Reeb
Amy Butzier	
Tyler Carraway	Miranda Reeves
Anthony DeRose	Alexzandria Richeimer
Dea Ferrell	Claire Rochon
Jack Garren	Todd Seyfang
Susan Gunn	Steven Ulsh
Ali Hassani Zadeh	
Saima Hussain	
Julie Jenkins	
Christine Johnson	
Telithia Johnson	
Kaitlin Kirtley	
Anitha Kandalu	
Letvia Kotchkoski	
Amiya Logan	
Darvell Marks	
Meenskshi Meyyappan	
Beth Miller	
Brianna Minniear	
Fathima Mohamed Adhnan	

Transportation to be declared impractical for the following students at the September 8, 2022 board meeting in accordance with the November 29, 2005, Board of Education Resolution.

Student First Name	Student Last Name	Building	Grade	Parent Name
Briley	Brocker	Genoa Christian Academy	Third Grade	Briston Anthony Brocker
Beckett	Brocker	Genoa Christian Academy	First Grade	Briston Anthony Brocker
Emery	Hooper	Genoa Christian Academy	Third Grade	Matt Hooper
Everett	Hooper	Genoa Christian Academy	Kindergarten	Matt Hooper
Liana	Thompson	Tree of Life- Polaris	Fifth Grade	Christie Thompson



1801 THORNWOOD DRIVE HEATH, OHIO 43056

August 23, 2022

Jeff Gordon Olentangy Schools 814 Shanahan Road Lewis Center, Oh 43035

Re: Salt Storage Building E-7391

Dear Jeff,

Thank you for the opportunity to provide a budget proposal for a new salt storage barn at Liberty High School. This proposal is based on the scope of work below. We have excluded site work and electric. Our budget price for this project is \$58,900.00 (fifty-eight thousand nine hundred dollars).

Final pricing will be completed when the construction drawings are available.

Due to current market conditions prices and lead times are changing daily. Once orders are placed vendors will provide updated pricing and lead times that we can incorporate into the schedule and final pricing. Some vendors are requiring nonrefundable deposits to secure placement in their production schedule. These deposits may be an additional cost to the project. This price is only good for 10 days

We include the following:

20' x 30' x 18' Front height, 13' rear height

Open Front Side (20')



ROBERTSON

FOUNDATION SYSTEM:

Post Holes 5' Deep, Cleaned of All loose dirt Poured Concrete Backfill for every Pole Rebar Embedded Post Bottoms with Concrete Uplift Anchor

EXTERIOR WALL SYSTEM:

Wall System Designed for All Applicable Regional Load Factors and Seismic Loads 4' o c Solid, 6 x 8, .60 CCA Treated SYP Posts, Treated Full Length. AWPA UC4B Ground Contact/Heavy Duty Rated, Kiln Dried after Treatment Gable Wall Posts Continuous to Roofline 2x8 CCA P.T. T&G Splashboard Liner from Grade to Roof

ROOF SYSTEM:

Rafter Style with 2x12 Purlins 5'8" C'DX Plywood Sheathing 15" Felt Underlayment Mineral Surface Roll Roofing, sealed laps and fasteners No Eave Overhang No Gable Overhang 2/12 Roof Pitch

EXTERIOR SIDING:

None

CONCRETE FLATWORK:

Up to 30ton Grading Stone Included 6" Thick. 6 Bag mix. Concrete Floor 20x30 Broom Finish 6x6x10 WWM and Fiberglass Reinforcing 6" Thick. 6 Bag mix. Concrete Apron 20x20 Broom Finish





We exclude the following:

- Sitework
- Electric
- Sprinkler
- HVAC
- Plumbing
- Unstable soil conditions
- Asphalt
- Seeding
- Demolition of any kind
- Winter weather protection
- Civil drawing

If you have any question, please do not hesitate to contact me at 740-929-1000.

Sincerely,

15

Dan Stevens Vice President - Estimating

